Potencias de 10 (D)

Calcule los siguientes productos y cocientes.

3.5023 + 10!

5.8119 = 10!

5.5741 = 10!

9.5852 x 10!

1.5128 = 10!

1.713=10"

2.8036 x 10!

9.3501 = 10!

4.331 + 10!

9.8315 x 10!

8.2429 x 10!

3.3366 = 10!

8.3261 = 10!

6.4052 x 10!

9.4738 = 10!

2.7287 = 10!

7.5459 x 10!

8.8765 + 10!

2.7772 x 101

2.2964 x 10!
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Potencias de 10 (D) Respuestas

Calcule los siguientes productos y cocientes.

3.5023 10!
0.35023
5.8119 + 10!
0.58119
5.5741+10"
0.55741
9.5852 x 10!
95.852
1.5128 + 10!
0.15128
1.713 = 10!
0.1713
2.8036 x 10!
28.036
9.3501 + 10!
0.93501
4.331 10!
0.4331
9.8315 x 10!
98.315

8.2429 x 10!
82.429
3.3366 + 10!
0.33366
8.3261 = 10!
0.83261
6.4052 x 10!
64.052
9.4738 + 10!
0.94738
2.7287 + 10!
0.27287
7.5459 x 10!
75.459
8.8765 + 10!
0.88765
2.7772 x 10!
27.772
2.2964 x 10!
22.964
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